

The Aussie Fir Tree: It grows down under
Consider the following function that generates the geometric pattern of a reverse growing fir tree.
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1. Draw and describe stage 5 of the pattern in terms of its shape and number of unit squares needed to construct the fir tree.

2. Describe how the pattern is growing?

3. How many unit squares are needed to build a Stage 10 Aussie Fir Tree?

Show your work.
     4. Given any stage number n, determine a closed form equation to determine

the amount of unit squares needed to build the tree.

     5. Your mate tells you that exactly 274 unit squares will make an Aussie Fir

Tree. He is wrong. Explain to him why his statement is false.
